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1. BREEBOL
(1) BB
EARBEERAR 296, 047 295, 840 207
EARBHEZIAE 76, 047 75, 840 207
AR EZIWRYE 220, 000 220, 000 0
ZWMHEFE 0 500, 000 A 500, 000
EEE 11, 250, 720 11, 250, 720 0
FEHINE 11, 250, 720 11, 250, 720 0
HEUNEE 13,425 10,516 2,909
HEUNEE 13, 425 10,516 2,909
BEnasst 11,560, 192 12,057,076 A 496, 884
(2) BEER
=S 12,419, 220 12, 260, 557 158, 663
"Bed 11, 040, 000 11, 160, 000 A 120, 000
BERESE 667, 423 396, 880 270, 543
BERES 82,706 74,316 8, 390
REXEE 1,020 1,240 A 220
BIEE 66, 394 70, 284 A 3,890
EHRTH 552, 000 552, 000 0
HE 9,677 5,837 3,840
T 582,719 376, 043 206, 676
=E 278, 769 188, 801 89, 968
BIEE 9, 400 12,162 A 2,762
BEEH 110, 000 110, 000 0
ZEAESR 99, 400 0 99, 400
EHRTH 48, 000 48, 000 0
HE 37,150 17,080 20, 070
BREBRM 13,001, 939 12, 636, 600 365, 339
SHEER SRR LRI A 1,441,747 A 579,524 A 862,223
Bl 0 0 0
LR R AR A 1,441,747 A 579,524 A 862, 223
2. RENEFOE
1) #TEHIRE
BEaIRaEEt 0 0 0
(2) BENER
BENBA 0 0 0
LA AR 0 0 0
55T B — AR IE Rk B4 EE 1 B4R A 1,441,747 A 579,524 A 862, 223
EABRVERS - T£H 80, 000 80, 000 0
L HA— AR IE DR BA PE 1 AE A 1,521,747 A 659,524 A 862, 223
— B EKRBEHERS 742,676,017 743, 335, 541 A 659,524
— R EKRBIEHRES 741,154, 270 742,676,017 A 1,521,747
I $REEREEEBOER
ZWMETE 0 A 500, 000 500, 000
L HA4E T IE K BA PE AR 0 A 500, 000 500, 000
EEERMEHERS 0 500, 000 A 500, 000
IEEERE EHRES 0 0 0
I FHRHEHXRES 741,154, 270 742,676,017 A 1,521, 747




